

a_i (, r_i , q_i , (availability) $i = 1, \dots, n$ ($n -$))
 $D(t)$, (demand) ()
 $D(t)$, [3].
 $D_1 < D_2 < \dots < D_m$.
 $\tau_1 = t(D_1)$ () $d_1 = D_1 - 0$, $\tau_2 = t(D_2)$
 $d_2 = D_2 - D_1$, $\tau_j = t(D_j)$
 $d_j = D_j - D_{j-1}$, $j = 2, \dots, m$:
 $D(t)$
 m .
 $i = 1, \dots, n$) $j = 2, \dots, m$,
 1 MW (megawatt,)
 $i = 1, \dots, n$
 τ_j ,
 $\frac{r_i + q_i \tau_j}{a_i}$. (1)
 (1) τ_j , j)
 τ_j
 j)
 $D(t)$ D_m ()
 L_i

(lifetime). $i = 1, \dots, n$ (1)

$$\begin{aligned}
 & \bar{x} \geq \bar{0} \quad (x_i^t \geq 0, \quad t = 1, \dots, H), \quad \bar{w} \geq \bar{0} \quad (w_i^t \geq 0, \quad t = 1, \dots, H), \quad \bar{y} \geq \bar{0} \\
 & (y_{ij}^t \geq 0, \quad i = 1, \dots, n, \quad j = 1, \dots, m, \quad t = 1, \dots, H), \\
 & \sum_{t=1}^H \left(\sum_{i=1}^n r_i^t w_i^t + \sum_{i=1}^n \sum_{j=1}^m q_i^t \tau_j^t y_{ij}^t \right), \quad (2) \\
 & r_i^t = L_i \quad \forall i = 1, \dots, n, \\
 & q_i^t = \tau_j^t, \quad i = 1, \dots, n, \quad j = 1, \dots, m, \quad t = 1, \dots, H, \\
 & w_i^t = w_i^{t-1} + x_i^t - x_i^{t-L_t}, \quad i = 1, \dots, n, \quad t = 1, \dots, H, \quad (3) \\
 & \sum_{i=1}^n y_{ij}^t = d_j^t, \quad j = 1, \dots, m, \quad t = 1, \dots, H, \quad (4) \\
 & \sum_{j=1}^m y_{ij}^t \leq a_i (g_i^t + w_i^t), \quad i = 1, \dots, n, \quad t = 1, \dots, H, \quad (5) \\
 & d_j^t = g_j^t, \quad j = 1, \dots, m, \quad t = 1, \dots, H, \\
 & x_i^t = 0, \quad t \leq 0. \\
 & w_i^t = 0, \quad t \leq 0. \\
 & y_{ij}^t = 0, \quad t \leq 0. \\
 & g_i^t = 0, \quad t \leq 0. \\
 & a_i = 0, \quad t \leq 0. \\
 & x_i^t = 0, \quad t \leq 0.
 \end{aligned}$$

L_i, Δ_i

,

.

n

,

$\Delta_n = 0.$

t

$$\vec{\omega} = (\omega_1, \dots, \omega_H)$$

$n,$

:

$$a_n [g_n^t + w_n^{t-1}(\omega_{t-1}) + x_n^t(\omega_t)] \geq D_n^t - \sum_{i=1}^{n-1} a_i [g_i^t + w_i^{t-\Delta_i}(\omega_{t-\Delta_i})]. \quad (10)$$

$$y_{ij}^t(\omega_t),$$

$t,$

$w_i^t(\omega_t),$

$$\vec{\omega} = (\omega_1, \dots, \omega_H),$$

:

$x_i^t(\omega_t).$

$$w_i^t(\omega_t) = w_i^t, \quad y_{ij}^t(\omega_t) = y_{ij}^t$$

$$\vec{\omega} = (\omega_1, \dots, \omega_H),$$

(6)

$$\sum_{i=1}^H \sum_{j=1}^n \left(w_i^t E r_i^t(\omega_t) + \sum_{j=1}^m y_{ij}^t E [q_i^t(\omega_t) \tau_j^t(\omega_t)] \right), \quad (11)$$

(7) – (11),

$$w_i^t(\omega_t), y_{ij}^t(\omega_t)$$

(6) – (10) (7) – (11)

$$\bar{x}, \bar{w}, \bar{y}$$

(6) – (10)

$$d_i^t, r_i^t, q_i^t,$$

H, n, m, τ_j^t

(10).

H

(

),

n

(3)

(

(7))

$$w_i^t = w_i^{t-1} + x_i^t, \quad i = 1, \dots, n, \quad t = 1, \dots, H. \quad (12)$$

$$\forall t, \bar{\eta}_i = (\eta_i^1, \dots, \eta_i^H) -$$

$$x_i^t \leq \eta_i^t u_i, \quad u_i -$$

$$L_i, \Delta_i, a_i.$$

$$(6) - (10) [5]$$

$$D(t)$$

$$20 \leq m \leq 40).$$

$$m$$

[5],

$$(6) - (10)$$

$$(6) \quad y_{ij}^t.$$

[5].

$$y_{ij}^t(\omega_t) \quad (\quad , \quad) \quad y_{ij}^t$$

$$x_i^t$$

$$\Delta_n = 0$$

$$t$$

$$x_n^t$$

$$y_{nj}^t [5].$$

$$(6) - (10).$$

$$x_i^t(\omega_t)$$

$$t$$

$$x_i^t(\omega_t) = x_i^t, \quad i = 1, \dots, n,$$

$$\bar{\omega} = (\omega_1, \dots, \omega_H).$$

$$(8) \quad (9).$$

$$y_{ij}^t(\omega_t)$$

$$(6) - (10)$$

$$H = 5$$

$$32.$$

$$(6) - (10)$$

[5], $H = 2, m = 3, n = 4, \Delta_i = 1, a_i \equiv 1, g_i^1 \equiv 0,$

$$d_2^t(\omega_t) = 3, d_3^t(\omega_t) = 2, \quad \xi - d_1^t(\omega_t),$$

$$3, 5, 7 \quad 0.3, 0.4, 0.3 \quad ; \tau_1^2 = 10, \tau_2^2 = 6, \tau_3^2 = 1;$$

$$i \ (= 1, 2, 3, 4) \quad 1 \quad -$$

$$r_1^1 = 10, r_2^1 = 7, r_3^1 = 16, r_4^1 = 6; \quad i$$

$$2 \quad q_1^2 = 40, q_2^2 = 45, q_3^2 = 32, q_4^2 = 55.$$

$$H = 2 \quad \Delta_i = 1 \quad (7) \quad w_i^t = x_i^t \ (\quad -$$

$$w_i^t \quad x_i^t), \quad (10) -$$

$$x_4^{t-1} + x_4^t - (x_1^0 + x_2^1 + x_3^2 + x_4^3) =$$

$$= a_n [g_n^t + w_n^{t-1}(\omega_{t-1}) + x_n^t(\omega_t)] - \sum_{i=1}^{n-1} a_i [g_i^t + w_i^{t-\Delta_i}(\omega_{t-\Delta_i})] \geq D_m^t = d_m^t + D_{m-1}^t,$$

$$\sum_{i=1}^4 x_i^1 \geq d_3^1 + d_2^1 + \max d_1^1(\omega_t) = 3 + 2 + 7 = 12. \quad (13)$$

$$(11)$$

$$E \sum_{t=1}^H \left(\sum_{i=1}^n r_i^t(\omega_t) w_i^t(\omega_t) + \sum_{i=1}^n \sum_{j=1}^m q_i^t(\omega_t) \tau_j^t(\omega_t) y_{ij}^t(\omega_t) \right) =$$

$$= 10 x_1^1 + 7 x_2^1 + 16 x_3^1 + 6 x_4^1 + E_{\xi} \{10 \times (4 y_{11}^2 + 4.5 y_{21}^2 + 3.2 y_{31}^2 + 5.5 y_{41}^2) +$$

$$+ 6 \times (4 y_{12}^2 + 4.5 y_{22}^2 + 3.2 y_{32}^2 + 5.5 y_{42}^2) +$$

$$+ 1 \times (4 y_{13}^2 + 4.5 y_{23}^2 + 3.2 y_{33}^2 + 5.5 y_{43}^2)\}. \quad (14)$$

$$10 x_1^1 + 7 x_2^1 + 16 x_3^1 + 6 x_4^1 = r_1^1 x_1^1 + r_2^1 x_2^1 + r_3^1 x_3^1 + r_4^1 x_4^1 \leq 120. \quad (15)$$

$$(7), (9)$$

$$\sum_{j=1}^3 y_{ij}^t(\omega_t) \leq a_i (g_i^t + w_i^t(\omega_t)) = 1 \times (0 + x_i^t), \quad i = 1, \dots, 4, \quad t = 1, 2,$$

$$w_i^1(\omega_1) = w_i^0(\omega_0) + x_i^1(\omega_1) - x_i^0(\omega_0) = x_i^1,$$

$$w_i^2(\omega_t) = w_i^1(\omega_1) + x_i^2(\omega_2) - x_i^1(\omega_1)$$

$$x_1^1 \geq y_{11}^2 + y_{12}^2 + y_{13}^2, \quad x_2^1 \geq y_{21}^2 + y_{22}^2 + y_{23}^2,$$

$$x_3^1 \geq y_{31}^2 + y_{32}^2 + y_{33}^2, \quad x_4^1 \geq y_{41}^2 + y_{42}^2 + y_{43}^2; \quad (16)$$

(8)

$$\sum_{i=1}^4 y_{ij}^i(\omega_t) = d_j^t(\omega_t), \quad j = 1, \dots, 3, \quad t = 1, 2,$$

$$y_{12}^2 + y_{22}^2 + y_{32}^2 + y_{42}^2 = 3, \tag{17}$$

$$y_{13}^2 + y_{23}^2 + y_{33}^2 + y_{43}^2 = 2, \tag{18}$$

$$y_{11}^2 + y_{21}^2 + y_{31}^2 + y_{41}^2 = d_1^1(\omega_t) = \xi. \tag{19}$$

$$x_i^1 \geq 0, \quad y_{ij}^2 \geq 0, \quad i = 1, 2, 3, 4, \quad j = 1, 2, 3. \tag{20}$$

$$(15) - (20) \quad (14) \quad x_i^1, \quad i = 1, 2, 3, 4,$$

$$x_1^1 = \frac{8}{3}, \quad x_2^1 = 4, \quad x_3^1 = \frac{10}{3}, \quad x_4^1 = 2, \tag{21}$$

381.853 [6].

$$y_{ij}^2 \quad (14) - (20)$$

[2, 5].

L-

() [6]. (14) - (20)

ξ

()

$$\vec{x} = (x_1^1, x_2^1, x_3^1, x_4^1)$$

(21), ξ = 5.

1

$$q_3^2 = 32 \quad (j = 3);$$

$$x_3^1 = \frac{10}{3} \leq 5 = \xi = d_1^1, \quad y_{31}^2 = x_3^1 \tag{16}.$$

$$q_1^2 = 40, \quad y_{11}^2 = d_1^1 - x_3^1 \tag{19},$$

$$y_{12}^2 = x_1^1 - y_{11}^2 = x_1^1 - (d_1^1 - x_3^1) = x_1^1 + x_3^1 - 5 \tag{16}.$$

2, j = 1,

$$j = 2: \quad y_{22}^2 = d_2^1 - y_{12}^2 = 3 - (x_1^1 + x_3^1 - 5) = 8 - x_1^1 - x_3^1, \quad y_{23}^2 = d_3^1 = 2$$

(19); ξ = 5 :

$$\begin{aligned}
Q(\bar{x}, \xi = 5) &= 10 \times (4 y_{11}^2 + 4.5 y_{21}^2 + 3.2 y_{31}^2 + 5.5 y_{41}^2) + \\
&+ 6 \times (4 y_{12}^2 + 4.5 y_{22}^2 + 3.2 y_{32}^2 + 5.5 y_{42}^2) + \\
&+ 1 \times (4 y_{13}^2 + 4.5 y_{23}^2 + 3.2 y_{33}^2 + 5.5 y_{43}^2) = \\
&= 40(5 - x_3^1) + 45 \times 0 + 32 x_3^1 + 55 \times 0 + 24(x_1^1 + x_3^1 - 5) + \\
&+ 27(8 - x_1^1 - x_3^1) + 19.2 \times 0 + 33 \times 0 + 4 \times 0 + 4.5 \times 2 + 3.2 \times 0 + 5.5 \times 0 = \\
&= 200 - 40 x_3^1 + 32 x_3^1 + 24 x_1^1 + 24 x_3^1 - 120 + 216 - 27 x_1^1 - 27 x_3^1 + 9 = \\
&= 305 - 3 x_1^1 - 11 x_3^1.
\end{aligned}$$

$$\begin{aligned}
&\xi = 3 \quad : \\
y_{31}^2 = 3, \quad y_{32}^2 = x_3^1 - 3, \quad y_{12}^2 = x_1^1, \quad y_{22}^2 = 6 - x_1^1 - x_3^1, \quad y_{23}^2 = 2;
\end{aligned}$$

$$\begin{aligned}
Q(\bar{x}, \xi = 3) &= 40 \times 0 + 45 \times 0 + 32 \times 3 + 55 \times 0 + 24 x_1^1 + \\
&+ 27(6 - x_1^1 - x_3^1) + 19.2(x_3^1 - 3) + 33 \times 0 + 4 \times 0 + 4.5 \times 2 + 3.2 \times 0 + 5.5 \times 0 = \\
&= 96 + 24 x_1^1 + 162 - 27 x_1^1 - 27 x_3^1 + 19.2 x_3^1 - 57.6 + 9 = 209.4 - 3 x_1^1 - 7.8 x_3^1.
\end{aligned}$$

$$\begin{aligned}
&\xi = 7 \quad : \\
y_{31}^2 = x_3^1, \quad y_{11}^2 = x_1^1, \quad y_{21}^2 = 7 - x_1^1 - x_3^1, \quad y_{22}^2 = 3, \\
y_{23}^2 = x_1^1 + x_2^1 + x_3^1 - 10, \quad y_{43}^2 = 12 - x_1^1 - x_2^1 - x_3^1;
\end{aligned}$$

$$\begin{aligned}
Q(\bar{x}, \xi = 7) &= 40 x_1^1 + 45(7 - x_1^1 - x_3^1) + 32 x_3^1 + 55 \times 0 + 24 \times 0 + 27 \times 3 + 19.2 \times 0 + 33 \times 0 + \\
&+ 4 \times 0 + 4.5(x_1^1 + x_2^1 + x_3^1 - 10) + 3.2 \times 0 + 5.5(12 - x_1^1 - x_2^1 - x_3^1) = \\
&= 40 x_1^1 + 315 - 45 x_1^1 - 45 x_3^1 + 32 x_3^1 + 81 - 45 + 66 - x_1^1 - x_2^1 - x_3^1 = \\
&= 417 - 6 x_1^1 - x_2^1 - 46 x_3^1.
\end{aligned}$$

$$\begin{aligned}
E_\xi \{ &10 \times (4 y_{11}^2 + 4.5 y_{21}^2 + 3.2 y_{31}^2 + 5.5 y_{41}^2) + \\
&+ 6 \times (4 y_{12}^2 + 4.5 y_{22}^2 + 3.2 y_{32}^2 + 5.5 y_{42}^2) + \\
&+ 1 \times (4 y_{13}^2 + 4.5 y_{23}^2 + 3.2 y_{33}^2 + 5.5 y_{43}^2) \} = \\
&= 0.3 \times Q(\bar{x}, \xi = 3) + 0.4 \times Q(\bar{x}, \xi = 5) + 0.3 \times Q(\bar{x}, \xi = 7) = \\
&= 0.3 (209.4 - 3 x_1^1 - 7.8 x_3^1) + 0.4 (305 - 3 x_1^1 - 11 x_3^1) + \\
&+ 0.3(417 - 6 x_1^1 - x_2^1 - 46 x_3^1) = 309.92 - 3.9 x_1^1 - 0.3 x_2^1 - 20.54 x_3^1.
\end{aligned}$$

(14) – (20)

V.M. Gorbachuk, A.A. Syrku, S.-B. Suleimanov

ENERGY CAPACITY EXPANSION WITH UNKNOWN DEMAND MODELING

It is shown that the energy capacity expansion with unknown demand problem can be reduced to the linear programming problem.

1. . 2016. . 21, . 9. . 142 – 147.
2. . 2015. 2. . 51 – 62.
3. Anderson D. Models for determining least cost investment in electricity supply. *Bell journal of economics and management science*. 1972. 3. P. 267 – 299.
4. Grinold R.C. Model building techniques for the correction of end effects in multistage convex programs. *Operations research*. 1983. 31. P. 407 – 431.
5. Louveaux F.V., Smeers Y. Optimal investments for electricity generation: a stochastic model and a test-problem. Numerical techniques for stochastic optimization. Y.Ermoliev, R.J.-B.Wets (eds.). Berlin, Heidelberg, New York: Springer-Verlag, 1988. P. 445 – 453.
6. Birge J. Decomposition and partitioning methods for multi-stage stochastic linear programs. *Operations research*. 1985. 33. P. 989 – 1007.

16.04.2018

Про авторів:

E-mail: GorbachukVasyl@netscape.net